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Warm Up Grade 8

Oct.\1, 2019

1) Evaluate the expression 5x+ 20 for x =6
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Worksheet Solutions
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page 350 Homework
#1, #2 #3 #4 #7 #9 #10 . Solutions

1o $y=-3k
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3)
a) 4x+9=-27

4x+9-9=-27-9
4x = -36
4x =-36
4 4
X =-9

c) 10=6x +5
6x + 5= 10
6x+5-5=10-5

2
i
13

b) -5x+8=23
-9x + 8 -8 =23 -8
-5x = 25
-5x = 25

October 17, 2019

c) 3x-4=-3
3x-4+4=-3 +4
3x =1
3x=1
3 3
x=1/3
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§ o= numbie o peple
¥ 125 = SH45

October 17, 2019
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Using Tables

You can use tables and charts to help you solve equations.

Sometimes you will be given the equations (output) and you will be asked to complete
the table or find the missing numbers. Other times you will be given the table and you
will be able to figure out the equations.

Complete the following tables:
Ordered pairs are (X, y)
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Using Tables

October 17, 2019

You can use tables and charts to help you solve equations.

Sometimes you will be given the equations (output) and you will be asked to complete
the table or find the missing numbers. Other times you will be given the table and you
will be able to figure out the equations.

Complete the following tables:

Input Output
X 2x+4

Ordered Pairs

| b
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(2,9
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(3, 10)

X 1 2

4 15)
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Input Output Ordered Pairs
X 3x+2
: ~ | (ly = ’)

(Z,-4)

(3 i)
(4,-10)

Homework pg. 356 # 4-8
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(£,9)

The equation is y=-3x + 4. Find the missing number in each

ordered pair. S‘\\N be\ﬁ .
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)
o
# 4(b,c), #5(a,c), #6, #7, /4y, #11, #12(Like a test questi\on)}

’." x=1 ng‘xa-.g
2 YD | 3| w+3
!
Do we need more? (if loud)

#5b, 8a,c, 9a,b,c, 10,



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

